Whitman College

Econ 358 Exam 3

April 17, 2008




Show all of your work.

1.  Write the formula for each of the following:

(a)  (5pts)  The average of a sample of Security A’s annual returns.  The sample includes A’s annual return in each of the 58 years from 1950 through 2007.  

(b)  (5pts) The holding period return for Security A from 1950 through 2007.

(c)  (5pts)  The expected return of a portfolio composed of Securities A, B and H.

(d)  (5pts)  The standard deviation of a portfolio composed of Securities A, B and H.

2.  (a)  (10pts)   Graph the feasible set of risk and return for each of the following pairs of securities.  Make a separate graph for each pair.  On each graph, indicate the efficient set of risk and return.  Be sure to label your axes.

(i)  Securities A and B.  Both are risky.  The correlation between the securities is 1.

(ii) Securities C and D.  Both are risky.  The correlation between the securities is 0.1.

(iii) Securities E and F. Both are risky.  The correlation between the securities is 0.

(iv)  Securities G and H.  Security G is riskless.  Security H is risky.

(v) Securities I and J. Both are risky.  The correlation between the securities is -1.

(b)  (10pts)  Define the diversification effect.

(c)  (10pts)  In which of the cases (i)-(v) of Part (a) do you see a diversification effect?

For Questions 3-7, suppose that the Capital Asset Pricing Model (CAPM) assumptions hold.  Use the following information to answer these questions.  The risk-free rate is 4%.  The market portfolio, M, has a standard deviation of 0.2 and an expected return of 16%.  

	Security 
	Standard Deviation of the Security
	Covariance of the Security with the Market Portfolio

	A
	0.25
	 0.01

	B
	0.40
	 0.02

	C
	0.30
	-0.01


3.  (a) (10pts)  Graph the Capital Market Line.  On your graph, carefully indicate Securities A, B, C, the market portfolio M, and the feasible set of risk and return for the set of all risky assets.

 Be sure to label your axes.

4.  (10pts)  Graph the Security Market Line.  On your graph, carefully indicate Securities A, B and C.  Be sure to label your axes.

5.  (10pts)  If a saver wants an expected return of 10.0%, what exactly would she do?

6.  (10ts)  If a saver is willing to put up with a standard deviation of 0.40, but no more than 0.40, what exactly would he do?

7.  (a) (5pts)  What two questions does the Capital Asset Pricing Model answer, and what are the answers to those two questions?

(b)  (5pts)  Describe how you would use the answers to the two questions to evaluate a risky investment project.

